BHARAT COCKING COAL LIMITED

(A SUBSIDIARY OF COAL INDIA LIMITED) OFFICE OF THE CHIEF GENERAL MANAGER

P.O.-SUDAMDIH, DIST-DHANBAD

Ref.:CGM(EWZ)/ACE/BCW/ Tender/F- /10-11 /5369-74

TENDER - NOTICE

Dated: - 20/07/10

Sealed percentage rate tender in two parts (PartI-PartII) are invited from experienced and eligible contractors for taking up following works:

tonication for taking up fone wing works.									
Sl. No.	Name of the Work	Est. amount	Earnest	Cost of	Time of				
			money	tender Paper	Completion				
01	Construction work for 60MT road weigh bridge	Rs 261765.69	Rs 2620	Rs 250/-	2 Months				
	including load cell foundation at BCW								

Issue of Tender paper form 04/08/10 to 05/08/1010 in office working time

submission of tender on dated 06/08/10 upto 3.00PM

Date & time of opening tender 06/08/10/10 at 3.30PM

Submission of tender: Tender documents will be issued on all working days during working hours. The tender documents

Is available on website (www.bccl.cmpdi.co.in).

Eligibility criteria:

Terms & Condition: The tender has to fulfill the following eligibility criteria (Documentary evidence to be submitted).

- A. Average annual financial turn over of Civil Works during the last 3 (three) years ending 31 st March of the previous financial year, should be at least 30% of the estimated cost.
- B. The intending tenderer must have in its name as a prime contractors experienced of having successfully completed similar works during last 7 (seven) years ending last day of Month previous to the one in which bid applications are invited (i.e. eligibility period) should be either of the following:

Three Similar completed work each costing not less than the amount equal to 40% of the estimated cost.

OF

Two Similar completed work each costing not less than amount equal to 50% of the estimated cost.

OR

One similar completed work costing not less than amount equal to 80% of the estimated Cost . Similar Work Means : Civil Construction work

- The tender has to fulfill the following eligibility criteria (Documentary evidence to be submitted in support of 1A & B above in the form of certified copy of Work – Order, Completion Certificate , Payment Certificate/ Vouchers etc indication the period of work for which the payment has been made , duly signed by Competent authority.
 - (ii) As per eligibility Criteria specified under Sl No. 1(a) Pre Qualification shall be done on experience of successfully completed works and not on Experience of works in progress
- 3. The tender documents can be had from the Office of the Area Civil engineer EWZ during the period mentioned above.
 - 04. Earnest Money is to be deposited with the Associates Finance in shape of Bank Draft drawn on any Nationalized Bank in favor of Bharat Coking Coal Limited Payable at Dhanbad. EMD may also be deposited in cash in the office of Cashier EWZ area office or concern washery office.

Complete sealed tender documents (Part I & part II) should be submitted at the same time.

Part I – Shall Consist of Terms& Condition of The tender, additional terms and condition if any, technical bid and credential and affidavit etc.

Part II shall consist of B.O.Q as sold to the tenderer duly filled in for rates, amount etc. i.e price bid Part. The earnest Money deposit is to be submitted in a separate Envelope superscripting "earnest Money Deposite"

5.The Part II will be opened only after the department is satisfied that the criteria fixed are fulfilled i.e. acceptance of Part –I

The tenderers must submit E.M as per NIT , sales Tax clearance certificate, PAN No. of Income Tax, ,TIN No.

Conditional Tenders will not be accepted.

Issuance of tender documents does not mean that the parties are considered qualified.

06 Issue & submission of The tender paper: Tender paper can be obtained after depositing the cost of Tender paper by the tenderer in cash with cashier in area or concern washery on any working day between 10AM to 3.00PM . The money receipt original along with the request letter to be submitted during office hours in the office of the undersigned during issue of tender period for obtaining a set of tender documents . Tender documents shall be issued to the tenderer or representative duly authorized to receive the tender documents in the person. Completed tender paper duly filled in to be submitted in the tender box in the office of the undersigned .

- 06 Validity: The validity of Tender will be 120 days from the date of opening of Price Bid or revised Price Bid, if any.
- 07 Performance security: 5% of the contract value should be deposited including including EMD after acceptance of offer before work order.
- 08 Credential & Certificate: All the credential & Certificate is to be submitted in the name & Style of the tenderer firm to whom tender paper was issued. Any other form shall not be accepted.
- 09 The Management of B.C.C.L. reserves right to reject any or all the tenders without assigning any reason what-so-over and to split up and distribute the work & amount among the tenderes
- 11 The complete Bid documents will be available on the web-site for the purpose of Downloading & tenders submitted such downloaded bid documents shall be considered valid for participating in then tender papers.
- 12 The bidders who will down loaded the tender documents from the web-site of the company (www.bccl.cmpdil.co.in) will be required to pay the cost of tender papers in form of Bank draft as per NIT at the time of Submission of tenders in a separate envelope.
- 13 The Company shall not be responsible for any delay/ difficulties/ inaccessibility of the downloading facility for any reason whatever. The downloading facility shall be available during the period of sell of tender papers.
 - 14 The bidders will be required to submit an undertaking that they will accept the tender documents as available in the web-site and their tenders shall be reject, if any tempering in the tender documents is found to be done at the time of opening of the tenders.

Distribution: Dy CE (C)(EWZ)

01 All Area CGM's/GM's ,BCCL 02A.F.M(EWZ),Sudamdih 03. F.M.(EWZ) 04.Cashier (EWZ),Sudamdih 05 P.O.(BCW,PCW,SCW)

06. G.M.(System), Koyla Bhawan: For uploading in Company website with floppy.

06. Notice Board, Area office (EWZ)

B.O.Q

 $\label{eq:pgNo-1} \textbf{\textit{Pg No-1}}$ For the work: Construction work for 60 MT road weigh bridge including load cell foundation at BCW.

(A) For pillar	- I							
Sl. No	Name of Work	Unit	Rate	qty		Amount		SOR 2007
01	Doub Wort	1.42	102.40	((0		D. 602 44	Item No	
01	Earth Work	M3	103.40	6.60		Rs 682.44		2.8.1
02	P.C.C(1:4:8)	M3	2449.0	0.84		Rs 2057.1		4.1.8
03	R.C.C(1:1 1/2:3)	M3	4092.35	4.00		Rs 16369.	.40	5.2.2
04	Steel Reimforcement	KG	42.70	320.00		Rs 13664.	.00	5.22.4
05	HD Bolt	KG	52.05	48.00) Rs		0	10.19
				Sub	Total	(A)	Rs 35271	1.40
(B) FOR RAMP-								
01	Earth work	M3	103.40	6.00	Rs 620.40			2.8.1
02	PCC(1:4:8)	M3	2449.00	1.80	Rs 4408.20			4.1.8
03	R.C.C (1:2:4)	M3	3720.00	3.00	Rs 11160.00			5.2.3
04	Steel Reinforcement	KG	42.70	240.00	Rs 10248.00		5.22.4	
				Sub Total		(B)	Rs 2643	6.60

(B) Building work-

Sl. No		Name of Work	Unit	Rate	qty	200	marks SOR 77 Item No ails
01		Earth Work	M3	103.40	28.00	Rs 2895.20	2.8.1
02		P.C.C(1:4:8)	M3	2449.0	3.10	Rs 7591.90	4.1.8
03		Brick work in(1:6)	M3	2007.00	12.00	Rs 24084.80	6.1.2
		Foundation plinth CD50					
04		Brick work in ss(1:6)	m3	2137.96	8.32	Rs 17787.82	6.4.2
05		RCC Lintel	m3	3673.85	1.63	Rs 5988.37	5.3
06		RCC roof	m3	3673.85	4.85	Rs17818.17	5.3
07		Steel Reinforcemnt	Kg	42.70	520	Rs 22204.00	5.22.4
08		Contening & Shuttering	8				
		a. Lintel	m3	162.65	16.50	Rs 2683.72	5.9.5
		b. Roof	m3	187.35	38.88	Rs 7284.16	5.9.3
09		Cement plaster(1:6)	m2	72.70	212	Rs 15412.40	
	13.4.2	1					
10		Ceiling Plaster	m2	62.15	38.88	Rs 2416.39	13.16.1
11		Oil bond Distamper	m2	41.55	145.00	Rs 6024.75	13.41.1
12		Snowcem	m2	50.40	106	Rs 5342.40	13.46.1
13		Roof grading with cement	m3	5045.35	1.08	Rs 5448.97	22.14.2
		Morter (1:3)					
14		Door frame sal wood	m3	30511.95	0.122	Rs 3722.45	9.1.2
15		Flush door 35 mm thick	m2	1473.50	6.62	Rs 9754.57	9.20.1
16		Glazed shutter with frame	Kg	23.20	66.40	Rs 1540.48	10.10
17		MS grill	KG	59.25	135.00	Rs 7998.75	9.48.1
18		Plaster of peris	m2	47.20	144.48	Rs 6819.45	13.26
19		Synthetic enamel paint	m2	51.30	20.28	Rs 1040.36	13.62.1
20		MS claimping	Each	61.50	18	Rs 1107.00	9.53
21		Siding door bolt	each	79.60	3	Rs 238.80	9.62.1
22		Handle	each	35.30	6	Rs 211.80	9.100.2
23		Hydrolic door closer	each	841.50	3	Rs 2524.50 C	ode 7060
		•					+10%
24		Tower bolt	each	62.20	12	Rs 746.40	9.97.2
25		Fan hook	each	75.20	3	Rs 225.60	10.17
26		PS flooring 40 mm thick	m2	192.95	38.88	Rs 7501.89	11.3.1
27		Plinth protection	m2	222.65	17.28	Rs 3847.39	4.17
28		PCC (1:4:8)	m3	2449.00	4.00	Rs 9796.00	4.1.8

Sub Total (C) Rs 200057.69

 $Total\ (\ A+B+C)$ (Two lakh sixty one thousand seven hundred sixty five and sixty nine paise) only Rs 261765.69